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QUESTION 1
Scenario: A Citrix Administrator has given permissions to team members to access their own admin partition, so they
can add resources for different departments and manage them without making changes to the default NetScaler

partition and configuration.

One team member was trying to use the command-line interface to troubleshoot an authentication issue and could NOT
use aaad.debug. However, the team member has full permissions on the admin partition.

What can be the cause of this issue?

A. The team member is NOT using the CLI correctly.

B. The team member needs to troubleshoot the issue from the GUI.
C. The team member does NOT have Shell access by design.

D. The team member does NOT have permission to use the CLI.

Correct Answer: C

QUESTION 2

After being audited, a Citrix Administrator was notified that additional enhancements should be made of the virtual
servers.

Which two options can the administrator take to make the additional enhancements? (Choose two.)
A. Enable RC4 cipher suite

B. Create SHAL key

C. Enable TLSv1.2

D. Disable SSLv3

Correct Answer: CD
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QUESTION 3

Scenario: The Director of network security in a financial organization wants to protect the enterprise network from any
external malware threats. To do this, the director needs to gain visibility into otherwise-bypassed traffic and control
access to malicious web sites. The director is required to do the following:

Intercept and examine all the traffic, including SSL/TLS (encrypted traffic), coming in, and going out of the
enterprise network.

Block access to URLs identified as serving harmful or insecure content.

Identify users (employees) in the enterprise who are accessing malicious websites.

Which NetScaler deployment mode should a Citrix Administrator use to achieve this requirement?

A. Unified Gateway

B. Secure Web Gateway

C. NetScaler Gateway

D. Access Gateway

Correct Answer: B

QUESTION 4

Scenario: A Citrix Administrator created an SSL virtual server using only the following commands: add Ib vserver
sslvserver SSL 10.102.29.133 444 add service sslsvcl 192.168.0.14 SSL 443 add service sslsvc2 192.168.0.15 SSL
443 bind lb vserver sslvserver sslsvcl bind Ib vserver sslvserver sslsvc? set ssl vserver sslvserver -ssl3 disabled The
SSL virtual server is currently in a DOWN state.

What could be the reason the SSL virtual server is in a down state?

A. SSLv3 is disabled.

B. The SSL Certificate is NOT bound to the virtual server.

C. The SSL services are NOT on the 10.102.29.X network

D. The virtual server SSL port is NOT set to port 443.

Correct Answer: C

QUESTION 5

A Citrix Administrator needs to utilize the client IP address as the source IP address for the NetScaler to server
connections.

Which mode on the NetScaler will the administrator utilize to meet this requirement?
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A. Layer 2 Mode
B. USNIP

C. Layer 3 Mode
D. USIP

Correct Answer: D
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